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VU ¢ 200 = REY-EIAHRUVIERELY = 14 H
m{tET = 122m + 13.0 m/H = 094 B (28Fm)
ERERT RERE = 434 m2 = 1510 m2/B-B x 1 By = 029 H
EREIRT TEELE = 9m2 + 1510 m2/BH-B x 1 B = 001 H
EREIRT JV5-F8 = 4m2 + 280 m2/B-[E x 1 EBH = 001 H (10cm)
EREIRT TEEREE= 122 m2 + 940 m2/B-f x 1 BH = 013 B (15cm)
EREIRT TRESEGE = 4m2 + 268 m2/B-fE x 1 B = 001 H (10cm)
EREIRT rEmmEE = 122 m2 + 940 m2/B-fE x 2 EBH = 026 B (17cm)
ERERT REGEE®E = 434 m2 = 1300 m2/B-B x 1 By = 033 H (5cm)
EREIRT REEHE =  122m2 + 250 m2/B-f x 1 EBH = 049 H (3cm)
EREIRT KEGHE) = 9m2 + 600 m2/B-fE x 1 EBH = 002 B (4cm)FEKAs
EREIRT RESHE) = 4m2 + 250 m2/B-f x 1 EBH = 002 B (4cm)
INGT 165 H

F5H 17 A
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